ZA\Clients\Endura PERMANENT\B - Texas Dept of [ns\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

POWERED BYI!
11

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ' D R = 7 O 9
The Fiberglass Door system described herein complies with the 2018 international
Residential Code {IRC), Sections R301 & R609 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

4. drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typicol elevations, design pressures & general notes
Door panel detdils {lip lite insert glazing)

Slidelte panel details {lip lite insert glazing)

Door panel details {flush glazing)

Slidelte panel detdils (flush glazing)

Horizontal cross sections

Vertical cross sections

Verfical cross sections

Frame anchoring

WimiN{on| O™ WIN]—

112.25" MAX. OVERALL
FRAME WIDTH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

98" MAX. O.A. FRAME HEIGHT {INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

P.O. Box 230 Valrico FL. 33585

Phone No.: 813.659.9187

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:

LFS
BY

REVISIONS

11/11/21{UPDATE TO 2018 IBC/IRC CODE

10/08/18|ADDED FLUSH GLAZING

2
1

L
<€
[
S
prd
6

oatE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

cHk. By:  LFS

OXO | LIP LITEINSERT |  INSWING +40.0 -40.0
OXO | LIP LITEINSERT | OUTSWING +40.0 -40.0
OXO |FLUSH GLAZED | INSWING +55.0 -55.0
OXO |FLUSH GLAZED | OUTSWING | +60.0 -60.0

DRAWING NO.:
TX—4666

sHEerT ] ofF @




TON| SANVLINENOO aNIging "M 9102 @

ZG8LL~d # NOLVHISIONY 40 ILVOIILLAIO
SUIIANIONI TYNOISSI408d 40 QuvOoE SvXEL

L6L6'BS9°CLB TON Suoyd

GBSEE 14 OOMIDA 0£Z Xog ‘O'd \Svg.

*ONI ‘SINVLIINSNOD ONIGHNG

€ZLYOL# "3'd Svx3L

‘I'd WPIMYOS ‘4 uopukl 1Ay pesndeiyd sjULINDOQ

(ONIZv19 1¥3SNI 31T di)
SVLI3a T3INVd ¥00d

SNOISIATY

Ad

31vd

'ON

Sd1

ONIZY19 HSN14 d3aaviei/g0/01

l

‘ATENISSY ¥0 Ldvd

S41

3000 oMi/08l 810z OL 3Aivadni|iz/Li/L1

4

VINAN3

:1.0Naodd

pATE: 11/09/16

N.T.S.

SCALE:

JK
LFS

DWG. BY:

CHK. BY:

DRAWING NO.:

TX—-4666

oF 9

2

SHEET

EXTERIOR

FOAM CORE

|- :WN.— -

CAP (PVC)

\

04" —— |=—

/,

LATCH STILE (LVL)

3.6"

INTERIOR

7“1\ HORIZONTAL CROSS SECTION

\2/

INTERIOR

A

FIBERGLASS
DOOR SKIN

i

0.7
a
4
35.75" MAX. PANEL

et

WIDTH
21" MAX
D.L.O. WIDTH

g —

V4

D

BOTTOM RAIL
[COMP.)

,j//

———

HINGE STILE (LVL)

S

D

5

DOOR PANEL

/"2 "\ VERTICAL CROSS SECTION

Plastpro
Fiberglass

IHOBEH 'O TA XYW .64

04" — | —

CAP [PVC)

IHOMEH 13NVd XYW .5C'66

DOOR PANEL SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.}

BMpP'99'799r-X L\sBuimes( - D\peze|o o4 oidiseld 60/-4Q - IAL\SU] 0 1daq sexa] - E\ININVINYID RINPUINSIUBIDNZ



3.7

et =04

07" —=|  |=—

04— |- EXTERIOR
\

STILE (LVL) INTERIOR

CAP (PVC)

/1" HORIZONTAL CROSS SECTION

N

35.75" MAX. PANEL

9.875" MAX
ON CENTER

-

WIDTH o1 MAX.
> ~1 D.LO. WIDTH
/
10 y
N2
T
O &
i O
- o
Ll .
=
: O =
% .
= 3
5 :
w ~
O~
,/
WV
7/
325" [
(TYP)

@ ODL LITE FRAME

SIDELITE PANEL

Plastpro
Fiberglass

SIDELITE PANEL SKIN: FIBERGLASS {0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

o

-—1.75" —=]

#6 X 1-1/2" PPH SMS

6.5"
(TYP)

INTERIOR

STEEL REINFORCEMENT ~ LATCHSTILE (vi) ~ CAP (PVC)
(1.6'X0.135)
#6X1-1/2"
6PPH Sf{AS e GLASS BITE ]/2"

EXTERIOR

r— 1.75" ——»I

o e e et

HETHTE

é
\-.,
<

A\Y

STEEL SPACER

Q'SO SEALANT
LOW TACK SEALANT

C:) GLAZING DETAIL

R

E 1.38"

. ODL LITE FRAME
HP Polypropylene

QJ L—— 0.57"

\ AIR SPACE
1/8" TEMPERED GLASS

TOP RAIL
(COMP.)

FIBERGLASS
SKIN

— 1/2" OVERALL GLASS THK.

L 1/8" TEMPERED GLASS

e
o ¥
A AT
1.2" —
.

INTERIOR

FOAM CORE

BN -~

«"

EXTERIOR

‘[ .2"

BOTIOM RAL—"[| i1

(COMP.)

7”2\ VERTICAL CROSS SECTION

NEY

ui
R
s 0
o
2 o 59
£% 3 uw
Ay ©B BT
2 £ N fu
u 26 Y
53 £oa 3
S oo Z2Z
£ Ztw 9C
> |
> d5© 0k
2>6 Qé
z80 &
§ S8R gg
o 4
o Q Xz
I Zmy o
g 3.5 o
] 50¢ %E
o [+: 3 TN 08
o
:
P xR af
5 (3]
Q
O
Q
~
)
3z
53
Qo
.
& L e
s |3 55
I
L1l
A
. , g:
x
S o| 55
o) - <
2 £
0. n.
[73]
L_'igm
L
o
)
o
O
&
o
S12 o
@g %
Qe v
O
Rzl &l
L
o2
:Iu..
ey
S8
£|8
S|k
- 10
O v
NN\
:8';;:
S5
o
NITIZ
oaTe: 11,/09,/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4666

SHEET _3 oF _9

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

© z016 R.W. BUILDING CONSULTANTS INC,



‘ONT BAINVLINSGNOD ONIgTing "M'¥ 9L 0z @

STILE (PVC)

IHOEH "OTAd XYW .44

LHOEH TANVd XYW .5T'96

oo fnoinisioay do sivouio (anizv19 HS) e SHOISIAZH ST ToN]
STVIIG T3INVd ddoa 2lulclo] ol
L616°660°C18 “ON ououd : S41 ONIZv19 HSMH_030av|gi/80/01] | || v|X|l| &
S6SEE 14 OSHIPA OEZ Xog ‘O'd \Svg. ‘ATHNISSY M0 Livd | S47] 3000 Qui/0dl 8102 Ol 3ivadnliz/ii/ii] ¢ | Q| L Q|8
‘ONI *SINVLINSNOD ONIGING | Z g g 4_
= . |&8|&lg
SZLPOLH 'T'd SVXIL VANaNG i m slelE a I
‘H'd WPIUIYDS 4 uopuk Ay pesndedd sjuswinoog :10NaoYd 23 W 3 m F
b, 2N s (,Q
@y, pitersen e S
X0
FRLALL WY
W =
3 25
= =
: g B
=
. ST 2 Q 9
—=] 90l |=— / / a
[ 7]
: |% %]
< * i . m
, 1 B
o iy
/ = o) 2 H >
o e O & —— L0 =
<G 28 &
o O = _.h.u_ o) (Y] o=
e <& O
2 o2
e 2z
Z
Ll
oc
I
&N
po— |
g
ohels
_58¢
. =
in P
N &
=
O
=
O
[ U]
)
I b
1/4 bt d
o o >
O O G
[+°4 -]
LI [N}
2 & =
/i N
I/} O
N
o
O
X
mw
Q Y/ A,
o A
i
H e
il &5
= 2 = — ~
= L g ! . oZ
O m..v > < = m o
3 3832 SRS
&5 e >3Rk3 o8 by
oz / R o o - =F
g 5 | 4
= o e
z 3 o)
a Qo
@a
28
30
(274
9z
al

Bmp 99 99p-X1\sBuImMeIq - D\Peze|D D4 oidiseld 60/-¥Q - IAL\su] J0 1daq sexa - S\LNINVINYId BInpua\sIualD\Z



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

NYLON SCREW (3" FROM ENDS & 16" O.C. )

STILE (PVC)

SIDELITE SKIN

| e

95.25" MAX. PANEL HEIGHT

\ INTERIOR 275 12
; f
) 4
/ EXTERIOR
STILE
STEEL REFORCEMENT REINFORCEMENT
(0.125" X 1.5" X 84" (WOOD)
m HORIZONTAL CROSS SECTION
b5/
35.75" MAX. PANEL
WIDTH
_ 25MAX.
D.LO. WIDTH 172" GLASS BITE
<
— 5/8" OVERALL GLASS THK.

79" MAX. D.L.O. HEIGHT

SIDELITE PANEL
Plastpro
Fiberglass

SIDELITE SKIN: FIBERGLASS (0.075" MIN. THK.}
FOAM CORE: POLYURETHANE (1.9 PCF MIN.)

/1.

P 1/8" TEMPERED GLASS

T~ AIR SPACE

1/8" TEMPERED GLASS

ALUM SPACER
GLAZING TAPE

() GLAZING DETAIL
Flush Glazing

)

. GLAZING BEAD
PVC

ﬁ»‘ or'r~

TOPRAILL — |}

(PVC)

RAIL — |

REINFORCEMENT
(WOOD)

O

EXTERIOR

||~ FoamcoRe

| BOTIOM RAIL
(PVC)

——' 1.07" |

/ 2"\ VERTICAL CROSS SECTION

&/

P N N Y

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595

Docurnents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-—11852

v
=
N
az
N
& oy
> s =20
S |3 &
o] % Lug
=
0l =
RS
xi D
2l |E
0. oo
>
ngm
Lt
Q
's)
%]
(& ]
X
o
SN2 |
g =
3 B
Dl |n
Rlzl I
9
e2
:u_
e
I8
£|18
Si<
10
N e
NI L
Z‘é,‘t;:
SI9°
oS
DATE: 11/09/16
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4666

SHEET _5 oF _9_

© 2016 R.W. BUILDING CONSULTANTS ING.



1/4" MAX.

0.75" _‘l*——[ |t .5" J——
~F q ? ~r
N
{
] 125 - 25"
JAMB / HEAD FATBOY MULLION
PINE PINE
NOTE:

1. Spacing for sidelite screws: 6.5", 35.5",
57.25" and 85" from head to sill (4 fotal).

\6/ Outswing shown - Inswing also approved

\U Outswing shown - Inswing also approved

Li
SHIM SPACE aQ
SIDELITE PANEL JAMB ; / EXT. SHEATHING §3 2 o
| Exo 0 ul 1
EXTERIOR 4 £* § 22
— AR A A AR b R I Y
A b - £ N fi
P~ W W S > 55 [T N ﬁ o -
{5 53 g 9 5 gxz
4 T L2 G0
~ 5 LY =
~ 2 33 © gg
-2
Z 0w
- 2X FRAMING 5 8R. 2g
J (G >=0.42) P I
/17  #8X2.5 COURSE THREAD § 3°¢ o5
6/ DRYWALL SCREW £ 37E gk
(See Note 1) / o § 8§
| E
[
[
INTERIOR \ °
— 0.15"
| TRILENNIUM —— t=— CSINK #10X2 5..2,§LWALL ~
SERIES 3000 MULTI-POINT (TYP.) WOOD SCREW %%
LOCKING SYSTEM & %
~ S 5
Q —d 2
1"\ HORIZONTAL CROSS SECTION £ .. =5
W Outswing shown - Inswing also approved ~ 2 g g Qv
Z oW
b Ro S5
- CORNER PADS (TYP.) - g ::g
5l s
= o
8 E
DOOR PANEL & &
I
~ Ly
#8 X 3/4" PFH SMS 4" HINGE DOOR PANEL LATCH STRIKE PLATE 8
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS ~ e
SIDELITE PANEL [ HI0X2:1/2"FH WS g 2 %
\ TRILENNIUM “IR 6
‘ SERIES 3000 MULTIPOINT 22| [@
_ LOCKING SYSTEM NER
- ol=
S 7 2 e
Sz
N alg
ENDURA WEATHERSTRIP _/ N 2=
#8 X 2.5" COURSE THREAD (QEBD 650) X NN
DRYWALL SCREW DOOR PANEL SIDELITE PANEL |8l
(See Note 1) #8 X 2.5" COURSE THREAD REE
DRYWALL SCREW — S
(See Note 1) M =
) oaE: 11/09/16
4-3/8" FATBOY PINE MULLION / o NS
4-3/8" FATBOY PINE MULLION bwe. B:  JK
CHK. BY: LFS
{2\ HORIZONTAL CROSS SECTION {3\ HORIZONTAL CROSS SECTION SRARG -
TX—4666

SHEET 6 oF 9

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



- ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

EXT. SHEATHING \

1/4" MAX.

92X FRAMING
> (G>=0.42)

i / DRYWALL

L —#10X2.5"PFH

WOOD SCREW

SHMSPACE ™~

DOOR PANEL \

0.15"
C'SINK
(TYP)

-

ENDURA WEATHERSTRIP

EXTERIOR

71"\ VERTICAL CROSS SECTION

A\

N

Outswing shown inswing
also approved

(QEBD/PE 650}

2X FRAMING
(G >=0.42)

O
E{2

e QQ‘

A
222; “‘{S " 7:3 ,,:.’?
hﬁ\\\xx\‘c‘”

NOTE:
Spacing for sidelite screws:
&" from each end (2 totai).

1.

I\ /- EXT. SHEATHING

DRYWALL \

1/4" MAX.

SHIMSPACE |

\UL— #10x 2.5' PFH
{ll  WooD SCREW

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW — |
(SEE NOTE 1)

0.15"
C'SINK
(TYP.)

.

INTERIOR

/4

ui

\* HEAD

EXTERIOR

7“2\ VERTICAL CROSS SECTION

W Inswing shown - Outswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
813.659.9197

P.O. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, [INC,

Documents Prepared By:

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
Y

11/11/21{UPDATE TO 2018 IBC/IRC CODE

10/08/18|ADDED FLUSH GLAZING

2
1

REVISIONS

L
<C
(]
@]
=
6

pate: 11,/09/1

scale:  NT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4666

SHEET _7 oF _9

@ 2016 R.W., BUILDING CONSULTANTS INC.



‘ Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

— — A\Y
?i ENDURA DOOR /’(
DOOR DOOR SWEEP PANEL N
(DBK-R)

PANEL AN

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
[SEE NOTE 1)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION
W Inswing configuration

| A

b 456" |
T INSWING ADJUSTABLE THRESHOLD 2"\INSWING ADJUSTABLE THRESHOLD
ZAIL4565 ZAI4565FN
f E 456" ! } | 456" |
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD
6 LACLAS65 7

\8/ Inswing Articulating Threshold

LACA4565FN
=

SIDELITE

#8 X 2.5" COURSE THREAD —|

DRYWALL SCREW
(SEENOTE 1)
EXTERIOR

PANEL \:—

ENDURA WEATHERSTRIP

/ PANEL

31@«

R
- e S O
A
f R g
DOOR R R RO
s C-O ‘-‘. .'. . b., 7
[+ A % 3 s,
& LAy ock
h % % "
K * ) "
A % %
%
M 3

DAY

RO

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

2
z
O
E

NOTE:
Spacing for sidelite screws:
é" from each end (2 total).

/3" VERTICAL CROSS SECTION

Z

% /2 TNy,
s = 7 %
W B

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7”5\ VERTICAL CROSS SECTION

\8/ Outswing configuration

! 456" !

INSWING ADJUSTABLE THRESHOLD

@ INSWING ADJUSTABLE THRESHOLD

ZAILAA4565

-l 456" |

@ — 1

ZAIAA4565FN

Tl 456" ]

8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD

IACLAA4565

@ OUTSWING THRESHOLD
10OBL4565

| 456" !
12) QUISWING THRESHOLD

ZOB4565FN

IACAA4565FN

4.56" !
13 OUTSWING THRESHOLD

ZOB4565RDS
| MAX. DESIGN PRESSURE = £55 PSF |

\3/ Outswing Bump Threshold

! 456" |
5"} INSWING ADJUSTABLE THRESHOLD

IAI4565RDS
[ MAX. DESIGN PRESSURE = +40 PSF ]

} 456" |
10 | INSWING ARTICULATING THRESHOLD

IAC4565RDS
| MAX. DESIGN PRESSURE = *35 PSF |

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.O, Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC,
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART_OR ASSEMBLY:

LFS
BY

11/11/21|UPDATE TO 2018 IBC/IRC CODE

10/08/18|ADDED FLUSH GLAZING

1

o

REVISIONS

L
<[
]
S
-
6

oatE: 11,/09/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4666

SHEET _8 oF _9

© z016 R.W. BUILDING CONSULTANTS INC.



s g 2X FRAMING (BY OTHERS) 52
6% £ 2
Eod T o B3
- 2]
208 . Ve & 5. 4B zr
s 8 m) T e (rvP.) £ 25y 8l
| = ) | §§ g2 32
T SEE HINGE TR T 1 ] T T Sk Brg 2g
| ey o N N 1 I i.: 0
" 1 #10 X 2.5" PFH DETAIL 1 DETAIL 1 N & 8%y £g
e WOOD SCREW s & 3 2352 %ff
S (TYP. @ HEAD = - I
AND JAMBS) [ ﬁ £ 3§ 2k
. e . m
o L 8 I
5 - { —N—r £ E
2 7 i #8X2-1/2'PFHWs | E Y
N\ 2 7 :
3 s 3
— " - ® L0~ <
2 ~— | #8X 1 PFsté:‘__« 48X 3/4" PEH WS
w w
¥
” _ 4n "
EB- SEE HINGE B y X 4" HINGE o
DETAIL 2 / s . \ =
B _ ] SEESIRKE™ ||| @ HINGE DETAIL 1 g |3
PLATE DETAILL g 5 |32
S E (TYP.) | & |3 o
! DETAIL | DETAIL 1 <E g —L \\ 8 é
) #8X 2-1/2' PFHW. ..
R * % *¥ % 85 B - /2" PFH WS = x o
' i \lllll/\lllll\(/ ] Lo e 8 |
1 i o | |le o o
i I T y ! L #BXT"PFHWS <o T D= yaPRHwWS B &
£ (YP) ——| | 1 4" X 4" HINGE Q1>
: ¢ ’ 1/4" X 2-3/4" DeWALT OR \!
{TW CONCRETE SCREW Ly
HINGE JAMB FLOOR SUBSTRATE MATERIAL {TYP.) FRAME ANCHORING IKE o
 EE CONCRETE {MIN. 3000 PS) X (TYP @ SILL) STRIKE JAMB HINGE DETAIL 2 8
WOOD (G >=0.42) Q
NERS
] ) | 38 5
NOTE: Additional anchors are required for D.P. > 40 PSF. oldl |5
S o
~N (% él
aE
=g
CONCRETE ANCHOR NOTES: g8
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 3 <
edge distance to mortar joints. Qg
2. Concrete anchor locations noted as "MAX. ON CENTER" musf be adjusted to 3 g 4 E
maintain the min. edge distance fo mortar joints, additional concrete anchors N0
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" COURSE ~ || = =
3. Concrete anchor table: THREAD #10X 2-1/2"FH W 1o Nz
ANCHOPR - AN | MIN. CLEARANCE DRYWALL SCREW / > <\':-_ |~ ——— MULTIPOINT oATE: 11,/09/16
ANCHOR P LRI STRIKE PLATE ; / /
 MASOI O ADJACENT. |\ SME:  N.T.S.
R o e EDGE ) ANCHOR N owe. BY:  JK
W , - - , DETAIL 1
TAPCON® va o e 1-1/2 4 Integral mullion attachment STRIKE PLATE DETAIL s::w‘:; - LFS
DeWALT . . . . TX—4666
lurraconE| 1/ 1-3/ ! 4
SHEET _9 oF _9

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-709 Plastpro FG Glazed\C - Drawings\TX-4664.66.dwg

@ 2016 R.W. BUILDING CONSULTANTS IND.



